FgArea: ['W1']
NC11 P6
2025-06-01 (Day 57)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2750 -

2500 -

2250 -

2000 -

1750

1500

Warning: | ['FVIEC’] is missing

1250

0 10 20 30 40 50



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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PE6AW

Bfig) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:45 320 160.0 3.136 FR| FHA@O07:45 RENIZF (KRAAIRES)
08:15 320 160.0 3.136 FA| hHR@08:15 KREFEHF (RALESR)
08:45 320 160.0 3.136 FH| FnHAe08:45 KHIEF (KRFEHERES)
09:25 320 160.0 3.136 FR| FHA@09:25 KRENFZF (KRFAAIREES)
09:55 320 160. 0 3.136 FA| FnHA@09:55 AFFEF (KAERE)
10:25 320 160.0 3.136 FA| FHA@10:25 KRENFEF (RAERHS)
10:55 320 160.0 3.136 FR| FHA@10:55 KRENFZF (KRAAIRES)
11:25 320 160.0 3.136 FE| FhHA@11:25 KREEF (RAFEHE)
11:55 320 160.0 3.136 BR[| FhHR@11:55 RHAMIEHF (RALESR)
12:25 320 160.0 3.136 FR| FhHA@12:25 KREFZF (RFAEES)
12:55 320 160.0 3.136 FH| FiHA@12:55 KREFEF (KAFEHE)
13:25 320 160.0 3.136 FA| hHR@13:25 KRHMIEHF (RALESR)
13:55 320 160.0 3.136 FH| FnHA@13:55 KRFIEF CRAERS)
14:25 320 160.0 3.136 M| FiHRe14:25 KREEF (KAEHE)
14:55 320 160. 0 3.136 M|  FEAe14:55 KREFZF (GRFAEREE)
15:25 320 160.0 3.136 FA| FhHR@15:25 KRHMIEHF CRALESR)
15:55 320 160.0 3.136 FR| FhHA@15:55 KRENFZF (RARES)
16:25 320 160. 0 3.136 M| FifAe16:25 KREFEF (RE{EREE)
24t]5760.0 (18X%) 2880. 0 32 KEC: 2080.0, PH: 6.5

#H[EKRECE (2200. 0 vs 4400.0) 35
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PE6AW
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11:10 320 160.0 3.136 PR {Ri%e11:10 Bzl CGRAEEE)
2it]1600.0 (5%) 800.0 33 KEC: 2080.0, PH: 6.5

AREHTERRA (0.93) , BEE

TeREHLERE STARERT (296.0 :

BRIASERRIERE160. 0 ml.

large discrepency for begining water status (313:150.0), set

FHERECE (2173.0 vs 4373.0) i d5

160.0), FIREKRREERE

to 313 ml.




P6AW W1, Day=56 (2025-05-31)
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P6AW

BriE) | GEBAK(F) | ERE(EH/AR) | EREE (G/R) [ XS R

07:50 320 160.0 3.136 FA| 1B2i%@07:50 B3zh (RAB{ERSE)
08:35 320 160.0 3.136 FA| 1BRi&@08:35 B3zh (FKA{EREE)
09:40 320 160.0 3.136 FH| 1BRi&@09:40 B3zh (RAEREE)
10:35 320 160.0 3.136 FA| 1B2i%@10:35 B3h (KRAIEREEE)
11:20 320 160.0 3.136 FA| {Ri%e@11:20 Bz (GGRAEEE)
12:00 320 160.0 3.136 FA| {Ri%@12:00 Bz (GRAEEE)
12:40 320 160.0 3.136 FA| 1BRi%@12:40 B3h (RABERESE)
13:20 320 160.0 3.136 FE| 1BRi&@13:20 Bzh (RAEREE)
14:00 320 160.0 3.136 FH| 1BRi&@14:00 Bzh (GRAEEE)
14:55 320 160.0 3.136 FA| 1Bzi%@14:55 Bzh (RkAIERSE)
15:55 320 160.0 3.136 FA| {Ri%@15:55 Bz (GRAEREE)
21t 3520.0 (11)%) 1760.0 JEWHKEC: 2080.0, PH: 6.5

WK FERRm A (0.94) , FRE

MEREHERE STHAEARS (291.0 : 163.0), AIREKREERE
BRIASEBRGERE163.0 ml.

FEERECE (2175.0 vs 4387.0) 05

LREBIEC (2900.0) 5iRE{E (2080.0) RERK, BHRE.
LEIRGEBIEC (2900.0) S51EEUEEIN (2080.0) REKK, FRE.
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P6AW

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:50 314 160.0 3.136 F[ BRi1%e07:50 Bz (GRAERSE)
08:25 314 160.0 3.136 = {RRiB008:25 B (RFAKEE)
09:15 314 160.0 3.136 (Z=| {Ri%@09:15 Bz (FRHAEHSE)
09:55 314 160.0 3.136 (Z=| {Ri%@09:55 Bzh (FAERHSE)
10:35 314 160.0 3.136 (Z=| 1Ri%@10:35 Bz (RAERSE)
11:10 314 160. 0 3.136 |Z=| fRige11:10 Bz CGRAEREE)
11:50 314 160.0 3.136 |Z=| {Ri&e11:50 Bz (REERSE)
12:20 314 160.0 3.136 (Z=| 1Rig@12:20 B3 (RAERSE)
12:55 314 160.0 3.136 (Z=| {Ri%e12:55 Bz (RAEHSE)
13:25 314 160.0 3.136 5| {Ri%e13:25 B3 (RAERSE)
13:55 314 160.0 3.136 = {RRiB013:55 B (RFAKESE)
14:25 314 160. 0 3.136 E BRige14:25 Bz CGRAERESE)
14:55 314 160.0 3.136 El BRi&e14:55 Bz GRAEREE)
15:25 314 160.0 3.136 = RRiBe15:25 B (RFEAEESE)
16:05 314 160.0 3.136 (Z=| {Ri%e16:05 Bz (KRAERSE)
21| 4710.0 (15)%) 2400. 0 3203 KEC: 2080.0, PH: 6.5

EREFIRRA (0.94) , FEE

MEREHER 2 STHAEARS (291.0 : 160.0), AIREKREERE
BRIASERRIERE160. 0 ml.

FEERECE (2145.0 vs 4338.0) i3



P6AW W1, Day=54 (2025-05-29)
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PE6AW

BfiE) | GEBAK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:35 314 160. 0 3.136 E BRi&e07:35 Bz (RAERE)
08:05 314 160.0 3.136 5| {Ri%@08:05 Bz (FAERSE)
08:35 314 160.0 3.136 = {RRi8008:35 B (RFAREE)
09:10 314 160. 0 3.136 E BRi&e09:10 Bzl (RAEREE)
09:50 314 160.0 3.136 =l {Ri%@09:50 B3 (RAERSE)
10:25 314 160.0 3.136 =l RRiB010:25 B (REAEESE)
10:55 314 160.0 3.136 = {RRiB010:55 Bz (REAEEE)
11:25 314 160.0 3.136 =l Rige11:25 Bz (GRAEESE)
11:55 314 160.0 3.136 =l {Rige11:55 B3 (RAERSE)
12:25 314 160.0 3.136 Sl {Rige12:25 B3 (REAERSE)
12:55 314 160. 0 3.136 E| {Rige12:55 Bah (RE{ERSE)
13:25 314 160.0 3.136 F BRige13:25 Ba CGRAERSE)
13:55 314 160.0 3.136 S| {Rig@13:55 B (RAERSE)
14:25 314 160. 0 3.136 E BRige14:25 Bz (GRAERESE)
14:55 314 160.0 3.136 F BRige14:55 Bz CGRAERE)
15:25 314 160.0 3.136 = {Rige15:25 B3 (RAERSE)
15:55 314 160.0 3.136 E BRi&e15:55 Bz (GRAERERE)
16:25 314 160. 0 3.136 = RiB016:25 Bz (RAEESE)
2it] 5652.0 (18X%) 2880. 0 32 KEC: 2080.0, PH: 6.5

WRFEHRREA (0.94) , FRE

HEAEHERE S FEERTT (296.0 : 157.0), AJEEKREERE
ZRIALPRERL157. 0 ml.

large discrepency for begining water status (364:114.0), set to 364 ml.
H#E[ERECZ (2098. 0 vs 4125.0) 35



P6AW W1, Day=53 (2025-05-28)
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